Fall 2002 CS540A FINAL EXAM

December 19, 2002

1.5 hours  26 questions

Name: _______________                 ID:_____________

Note #1: when you answer the questions, if you think there are some conditions missed so that you cannot answer properly, you can write down your assumptions as supplementary to the conditions given. 

Note #2: For multiple choice questions, please briefly explain your choice and your knowledge on the relevant subject, so if your choice is wrong, you might get partial credit.

1. User A issues this command:

UPDATE scott.emp SET sal=50000 where empno=7902;

Then user B issues this command in another oracle session: 

UPDATE scott.emp SET sal=60000 where empno=7902;

User B informs you that the UPDATE statement seems to be hung. How can you resolve the problem so user B can continue working? (Choose one) (4 points)

A. No action is required

B. Ask user B to abort the statement and reissue the same statement.

C. Ask user A to commit the transaction

D. Ask user B to commit the transaction

Answer:

C.  Because User A’s statement locks the record(s), and the locks will be released after the commit or rollback is issued.

2. What's true about this statement used during import. What does the parameter 'ignore' mean? (Choose one) (4 points)

imp hr/hr tables=(employee, departments) file=hr.dmp ignore=y

A. It ignores duplicates.

B. It prevents character set translation on import

C. It allows rows to be inserted into a table that already exists even the create table statement during import failed.

D. It ignores storage parameters in the DML executed during import.

Answer:

A. is not true. If there is duplicates that violate primary/unique key, those records are still being rejected while trying to be inserted in the tables.

3. Which of the following statements is wrong if the export is performed using the following parameters? (Choose one)  (4 points)

exp system/manager file=scott.emp log=exp_scott.log owner=scott rows=n

A. The table definitions would be exported

B. The table data would be exported

C. The constraints would be exported

D. The indexes definitions would be exported

Answer:

4. In what order are the actions being performed by the import utility? (Choose one) (4 points)

A. Data imported, indexes built, triggers imported, integrity constraints enabled, table created

B. Table created, data imported, index built, triggers imported, integrity constraints enabled

C. Triggers imported, integrity constraints enabled, indexes built, data imported

D. Data imported, triggers imported, indexes built, integrity constraints enabled

Answer:

5. In user-managed backup and recover procedures, how are data files being backed up? (Choose one) (4 points)

A. Using SQL Commands

B. Using SQL*Plus commands

C. Using operating system commands

D. Using Recover Manager commands

Answer: 

OS commands: e.g. ‘cp’, ‘tar’, in Unix.  ‘copy’ in  Windows.

6. The database is running in NOARCHIVELOG mode. A data file is lost. Which two are valid options for recovery, so the Database can be open for business? (Choose two) (2 points)

A. Restore the data file and perform incomplete recovery.

B. Restore the data file and perform point-in-time recovery.

C. Drop the tablespace which contains the lost data file and lose all data in that tablespace.

D. Restore the database from last cold(offline) backup and lose all data since the last backup.

Answer:

D. is to restore the cold backup files.

C. is to drop the tablespace with the corrupted/lost data file.

7. A user is running a long update batch job. Many tables are updated and all the statements are in one transaction (only at the end of the transaction, a commit is issued). Before the process is finished, the user machine lost power. When the user calls you, what should you do as DBA?(Hint: How to handle different types of failures, in this case, it's the user process failure) (Choose one) (4 points)

A. Do nothing, the PMON process handles everything.

B. Shutdown the database and restore all the tables the user was updating. 

C. Log in as DBA, clean up the partial updates in those tables, and do another manual backup.

D. Use LogMiner to find out which records are changed based on the user's ID, then rollback all those changes. 

Answer:

8. You are configuring a database in ARCHIVELOG mode, which TWO parameters you need to set? (Choose TWO)  (4 points)

A. LOG_ARCHIVE_SIZE

B. ARCHIVELOG_MODE

C. LOG_ARCHIVE_DEST_1

D. LOG_ARCHIVE_FORMAT

E. LOG_ARCHIVE_INTERVAL

Answer:

LOG_ARCHIVE_DEST_1 specifies where the archived logs be copied to

LOG_ARCHIVE_FORMAT specifies the naming of the archived logs.

9. You have performed the first step in placing your database into ARCHIVELOG mode. The second step is deciding whether the online redo log files are to be archived automatically or manually. Which action should you take to enable archiving at instance startup?  (Choose one) (3 points)

A. Set the LOG_ARCHIVE_START parameter to TRUE in the spfile. 
B. Automatic archiving is the default when archivelog mode is set. No further actions are required.

C. Set the LOG_ARCHIVE_MAX_PROCESSES parameter to n(where n is the number of archiver processes) in the initialization parameter file..

D. Immediately after setting the database in ARCHIVELOG mode, in SQL*Plus select automatic archiving using this syntax: ALTER DATABASE SET LOG_ARCHIVE_START=TRUE

Answer:

In order for the archiving to be automatically enabled whenever the instance startups up, the LOG_ARCHIVE_START parameter needs to be set to true. 

D. is not correct. It’s ‘ALTER SYSTEM’

10. What should one be your tuning goals? (Choose one).  (4 points)

A. Use as much memory as possible.

B. Use multiple copies of the code in memory.

C. Access the most possible number of blocks from disk.

D. Access the least possible number of blocks from disk. Try to get them from memory cache.

Answer: 
A. is not correct. You might waste memory if the hit ratios are already very high.

11. How to calculate the DB CACHE hit ratios? If the hit ratio is only 20% after the DB running for some time, what's you recommendation? (4 points)

Answer:

See classnotes for the formula.  If it’s 20%, most likely the db_cache_size is too small. If you have enough physical memory, increase the db_cache_size value.  

Also investigate what objects could be put in BUFFER_POOL_KEEP/RECYCLED area (this is not covered in class, so above answer would suffice).

12. The users reported that the web site is running very slow from 1:00pm - 3:00pm everyday when performing 'check-out' of the online shopping carts. The application developer is finger pointing to the Oracle Database's performance. What is your approach of identifying the bottleneck (e.g. which SQL Statements running during that time takes the most the time)? Please briefly list the steps.  (3 points)

Answer:

A couple possible approaches:

1. run utlbstat/utlestat to find out the system statistics/contention/waits

2. alter session set sql_trace=true;

    run the online checkout shopping cart process during 1:00-3:00pm

    alter session set sql_trace=false;

    use ‘tkprof’  to analyze the trace file generated above. Take a look at the report to find the bottleneck.

13. You are performing a DB recovery by applying archive logs, from sequence number 1000 to 4000. Log sequence 3000 is corrupted, and you finished with an incomplete recovery. You issue this statement:

ALTER DATABASE OPEN RESETLOGS;

What's a result of executing this statement?  (Choose one) (4 points)

A. A new incarnation of the database is created. The old archive logs having sequence > 3000 can not be used for recovery.

B. The old archive logs having sequence >3000 can be used for future recovery. 

C. The statement fails because the RESETLOGS option can not be issued after an incomplete recovery.

D. The DB can skip corrupted log sequence 3000 and apply other logs till 4000.

Answer:

14. Write the steps and commands in order to online hot backup the following tablespaces and datafiles:

TABLESPACE FILE_NAME

---------- --------------------------------------------------

GEOLI_DICT /home/geoli/u01/oradata/test1/geoli_dict_01.dbf

GEOLI_DICT /home/geoli/u02/oradata/test1/geoli_dict_02.dbf

SYSTEM     /home/geoli/u03/oradata/test1/system01.dbf

USERS      /home/geoli/u03/oradata/test1/users01.dbf

The backup destination is: '/backup' (4 points)

Answer:

alter tablespace geoli_dict begin backup;

cp /home/geoli/u01/oradata/test1/geoli_dict_01.dbf /backup

cp /home/geoli/u01/oradata/test1/geoli_dict_02.dbf /backup

alter tablespace geoli_dict end backup;
Do the same for SYSTEM/USERS tablespace.

Copy all the archivelogs files too.

15. For the UNDO_RETENTION parameter, which of the following is true? (Choose one) (4 points)

A. It's the number of seconds to retain the UNDO information after the transaction is committed. 

B. When setting properly, long running queries can complete without receiving the snapshot too old error.

C. When setting this too high, it might require huge undo space in a high transaction volume environment.

D. All of the Above.

E. None of the above.

Answer:

16. Oracle guarantees read-consistency for queries against tables. Which structure provides for statement-level read consistency in Oracle?  (Choose one) (4 points)

A. Undo segments

B. Redo Log files

C. Data Dictionary tables

D. Archived redo log files

Answer:

17. You are given an Excel Spread sheet that contains 4 columns (STUDENT_ID,SEMESTER,COURSE,GRADE) with many rows. List the steps how to load this information into test1 database's  table STUDENT_GRADES owned by geoli (password is geoli) using the SQL*LOADER utility. Please give a sample control file and the sqlldr command line parameters. (4 points)

SQL> connect geoli/geoli@test1

Connected.

SQL> desc student_grades

 Name                                      Null?    Type

 ----------------------------------------- -------- ----------------------------

 STUDENT_ID                                         VARCHAR2(10)

 SEMESTER                                           VARCHAR2(20)

 COURSE                                             VARCHAR2(20)

 GRADE                                              VARCHAR2(10)
Answer:

See Homework #10

18. Anne issued this SQL Statement to grant Bill access to the CUSTOMERS table in Anne's schema:

GRANT SELECT ON customers to bill WITH GRANT OPTION;

Bill issued this SQL Statement to grant Claire access to the CUSTOMERS table in Anne's schema:

GRANT SELECT ON anne.customers to claire;

Later, Anne decides to revoke the select privilege on the CUSTOMERS table from Bill. Which statement correctly describes both what Anne can do to revoke the privilege, and the effect of the REVOKE command? (Choose one) (4 points)

A. Anne can run the 'REVOKE SELECT ON customers FROM bill;' statement. Both Bill and Claire lose their access to the CUSTOMERS table.

B. Anne can run the 'REVOKE SELECT ON customers FROM bill;' statement. Bill loses access to the CUSTOMERS table, but Claire will keep her access.

C. Anne can not  run the 'REVOKE SELECT ON customers FROM bill;' statement unless Bill first revokes Clarie's access to the CUSTOMERS table.

D. Anne must run the 'REVOKE SELECT ON customers FROM bill CASCADE;' statement. Both Bill and Claire lose their access to the CUSTOMERS table.

Answer:
19. Which statement is NOT true about Profiles? (Choose one) (4 points)

A. Profiles can control the use of passwords.

B. All limits of the DEFAULT profile are initially "unlimited".

C. Profiles can be assigned to users and roles, but not to other profiles.

D. In order for the profile's resource limit to take effect, the database paramter resource_limit needs to be set to TRUE.

E. Profiles can ensure that users could not log on simultaneous sessions by setting SESSIONS_PER_USER limit. 

Answer:

Profiles can be assigned to users. But not roles.

20. Which data dictionary view would you use to get a list of OBJECT privileges for all database users?  (Choose One) (4 points)

A. DBA_TAB_PRIVS

B. USER_TAB_PRIVS

C. DBA_SYS_PRIVS

D. DBA_ROLE_PRIVS

Answer:

21. Write a SQL script or Unix Shell script to report how many rows in each table for ALL tables of the SCOTT schema (password tiger) to the user FALL02_FINAL. (4 points). (e.g. select count(*) from emp; will report the total number of rows in EMP table. Please use the user_tables data dictionary view for all scott’s tables). 

Answer:

sqlplus –s scott/tiger <<EOF

set pagesize 0

set feedback off

spool junk.sql

select 'select '''||table_name||''',count(*) from '||table_name||';' from user_tables;

spool off

exit;

EOF

Run the junk.sql

sqlplus scott/tiger  @junk.sql

22. Your database is in ARCHIVELOG mode, which must be true before the Log Writer(LGWR) can reuse a filled online redo log file? (Choose one) (4 points)

A. The redo log file must be archived

B. All of the data files must be backed up.

C. All transactions with entries in the redo log file must complete.

D. The data files belonging to the SYSTEM tablespace must be backed up.

Answer:

23. Evaluate the following

SQL> connect system/manager

Connected.

SQL> create synonym students for scott.students;
SQL> create public synonym students for scott.majors;
If login as ‘system’ user, when trying to ‘select * from students;’, which of the following is true? (Choose one) (4 points)

E. You will get all the data from the MAJORS table owned by  SCOTT user.

F. You will get all the data from the STUDENTS table owned by  SCOTT user.

G. You will get an error because students synonym is pointing to different database objects.

H. The 2nd statement will fail because the synonym name and the database object name it’s pointing to mismatch.

Answer:

24. More stringent user access requirements have been issued. You need to do these tasks for the user 'geoli':  
1. Change user authentication to external authentication

2. Revoke the user's ability to create objects in the TEST_TS tablespace.

3. Give the user a new default tablespace (DATA_TS) and temporary tablespace (TEMP_TS) and set a quota of unlimited for both of them.

4. Assign the user to the CLERK profile.

Which statement meets all the requirements? (Choose one)  (4 points)

A. ALTER USER geoli identified externally default tablespace data_ts temporary tablespace temp_ts quota unlimited on data_ts quota 0 on test_ts

grant clerk to geoli;

B. alter user geoli identified by geoli default tablespace data_ts temporary tablespace temp_ts quota unlimited on data_ts quota 0 on test_ts profile clerk;

C. alter user geoli identified externally default tablespace data_ts temporary tablespace temp_ts quota unlimited on data_ts quota unlimited on temp_ts quota 0 on test_ts profile clerk;

D. alter user geoli identified by geoli default tablespace data_ts tempoary tablespace temp_ts quota unlimited on data_ts quota 0 on test_ts;

grant clerk to geoli;

Answer:

25. Which two statements grant an object privilege to the user Smith? (Choose two) (4 points)    

A. grant create any table to smith;

B. grant create table to smith;

C. grant create database link to smith;

D. grant all on scott.salary_view to smith;

E. grant update any table to smith;

F. grant select,update on scott.emp to smith with grant option;.

Answer:

26. You create a new table named DEPARTMENTS by issuing this statement:

create table departments(department_id number

                        ,department_name varchar2(30)

,manager_id number

,location_id number)

storage (initial 128k next 128k pctincrease 0 minextents 1 maxextents 5);

You realized that you failed to specify a tablespace for the table. You issue these queries:

SQL> SELECT username, default_tablespace, temporary_tablespace from user_users;

USERNAME DEFAULT_TABLESPACE   TEMPORARY_TABLESPACE

-------- -------------------- --------------------

SCOTT    SYSTEM               TEMP

SQL> select * from user_ts_quotas;

TABLESPACE_NAME                     BYTES  MAX_BYTES     BLOCKS MAX_BLOCKS

------------------------------ ---------- ---------- ---------- ----------

USERS                             1114112         -1        136         -1

SYSTEM                            1507328   16777216        184       2048

INDX                              2555904         -1        312         -1

TEMP                                    0         -1          0         -1

In which tablespace was your new DEPARTMENTS table created? (Choose one)  (4 points)    

A. TEMP

B. USERS

C. SYSTEM

D. INDX.

Answer:

The user’s default tablespace will be used if the create table statement does not specify a tablespace.

